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o 1) Determine the,magnitude of F, and its direction 6
B g ” . .

so that the resultant force is directed vertically upward and

has a magnitude of 800 N.
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10 2) Deteémine the stretch in each of the two
springs required to hold the crate of mass
m,. in the equilibrium position shown. Each
spring has an unstretched length dand a
stiffness k.
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1o 4) Determine the support reactions of roller A and the
smooth collar B on the rod. The collar is fixed to the rod
AB. but is allowed to slide along rod CD.
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